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F—=5 B K

1 BH a=10000, b =9999,K a® + b*> - 2ab - 6a +
6b +7 M1HE.
[— sk ]
a0 WEHEZERABRKEMFPEITE ).
QLT 87
: a - b=10000-9999 =1,
a®+ b -2ab-6a +6b+7
=(a-5)?-6(a-b)+7
=1-6+7
=2.
B2 CHb-d=3,(a+b-c-d)?+(a-b-c+d)’
=24.5RK(a+b-c-d)(a-b-c+ d)HH.
]
Eor-d=3RA
(a+b-c-d)?+(a-b-c+d)?=24%,17
[(a-¢)+3)+[(a-c)-3]>=24,
Bl 2(a-c¢)?*+18=24,
(a-c¢)*=3.
FR (a+b-c-d)(a-b-c+d)
=[(a-¢c)+3][(a-c)-3]
=(a-c)*-9
=3-9= -6.



[e%r ]

H(a+b-c—-d) +(a-b-c+d)?=24,78

[(a+b-c-d)-(a-b-c+d)PP+2(a+b-c-d)
(a-b-c+d)=24,

Bl 4(b-d)?+2{a+b-c-d)(a-b-c+d)=24,

b-d=3,
(a+b-c-d)a-b-c+d)= -6,
B3 WMRSRKEEW - AT 99 REBEHIL?
(—m k]
99° = 970299 = 138614 x 7 + 1,
it 99’ REEH=.
[Blwisg ]
99° = (14x7+1)°
=(14x7)P¥ +3x (14x7)2x1+3
x (14x7)x1*+1°
=(I9 X7 +3x 14 x7+3x14) x7 +1,
Frt o9’ REBH=.

Bla o.b.c BEHEZE,x.y BREELR, X A=(a-
blx+(b~c)y+(c-a),B=(b-c)x+{(c-a)y+(a-
),C=(c-a)x+(a-b)y+(b-c).RiF:4.B.C AEEH
EIER, BARRERE .

[k ]

(%)

[ B e ]

A+B+C=(a-b+b-—c+c-a)x+(b-c+c—-a
+a-b)y+c-a+a~b+b~-c=0,

AB.C FREMEIER, W ARERE I



15 KiE:(a’>+ab+b)2+4ab(a+ b)*=(a’>+3ab +

b%)>.

[— i)

JERLH = a* + a?b% + b* + 20’ b + 24767 + 2ab’
+4ab(a®+2ab+b?)
=a*+6a’b +11a°b* + 6ab’ + b*,
BRAEN = a* +9a%b? + b* + 64’ b + 2a*b? + 6ab°
=a*+6a’b +11a*b” + 6ab’ + b*,
JR AL

(GiFTiELE]

# (a+b)?=4, ab=B,Jf!'J

a*+ab+b*=A-B, d*+3ab+b’=A+B.

FR BERXEHN =(4-B)+4BA=(A+B)

=(a?+3ab + 6%)?,

e RiF:(a+b)?+(b+c)+(c+a)+2(a+b)(b

+c)+2(a+b)(c+a)+2(b+c)(c+a)=4(a+ b+c).

[—Airk)

B2 = a® +2ab + b2+ b2 + 2be + c* + ¢* + 2ac + a®
+2(ab+ ac + b2+ bc) +2(ac + a* + be + ba)
+2(be + ba + ¢ + ac)

=4(a*+ b* + 2 +2ab +2ac +2bc)
=4(a+b+c)?,
Jr AR SL

TRl

/—;r\a+b=x;b+c=y,c+a=z,mﬂ

BRAEDN =22+ 92+ 27+ 20y + 252 + 29z



=(x+y+2)
=(a+b+brc+c+a)
=4(a+b+c)?,
JR AL .
Bl 7 *ﬁE:Z(a—b)(a—c)+2(b—c)(b—a)+2(c—
a)(c—b)=(b—c)2+(c—a)2+(a—b)2.
[— ]
EiﬂEiﬂ:Z(az—M—ab+bc+bz—ab—bc+ac+c2—
bc — ac + ab) :
=2(a?+ b*+ c*—ab—bc-ac),
BRI = b2+ —2bc + ¢ + a* ~2ac + o’ + b ~2ab
=2(a’+ b*+ c* - ab - bc - ac),
JR X ALAE
[ A% )
iﬁa—b=x,c—a=y‘b—c=z,ﬂl‘]x+y+z=0.
M (s +y+2)7=0,
Bl 2%+ 2+ 27+ 20y +2y2+ 222 =0,
—2xy—2yz—2xz=x2+y2+z2,
Bp —2(a—b)(c—a)—2(c-a)(b—c)—Z(a—b)(b—c)
=(a—b)2+(c—a)2+(b—c)2,
s 2(a—b)(a-—c)+2(b—c)(b—a)+2(c—a)A(c—b)
=(b—c)2+(c—a)2+(a-b)2.
58 5RﬁE:(x+y)(y+z)(z+x)+xyz:(x+y+z)
(xy +y2+ 2x).
[—MiEs] _
ﬁﬁfniﬂ=(xy+xz+y2+yz)(z+x)+xyz

2 2
=xyz+x2y+x22+x22+yzz+yx+yz + xyz



+ xyz
=3xyz+ 2y +z2) +y (x+2z)+22(x+y),
Ezﬁ:giil=x2y+xyz+zx2+xy2+yzz+xyz+xyz+yzz+
2
=3ayz+ 2 (y+z2)+ ¥ (z+2)+2(x+y),
o AL
[ 87 E B ]
Bax+y+z=s,1
BREDN =(s-2)(s-y)(s-2) +xz
= —(x+y+2)ss+(ay+yz+m)s - xyz
+ xy2
=s3—53+(xy+yz+ zx)(x+y4 z)
=(x+y+2)(xy+9yz+ =),

B9 BAl(a-c)?-4(a-b)(b-¢)=0,KiE:a+c=
2b.

[—MiEE]

v (a-¢)-4(a-b)(b-¢)=0,

s a®-2ac+ ¢’ -4ab +4ac +4b’ -4bc =0,

Bl (a%+2ac+c¢?) —4b(a+c)+(2b)* =0,

. (a+c)2—2(a+c)(2b)+(2b)2=0,

Bl (a+c-2b)=0,

W a+c=2b.

(&% iF s —]
(a-c¢)-4(a-b)(b-c)=0,
[(a-b)+(b-c)]?-4(a-b)(b-¢c)=0,

}}\ﬁﬁ(a—b)2+2(a—b)(b—c)+(b—c)2—4(a-—b)(b

: 5



Fa

B (a-0)-2(a=-b)(b-c)+(b-¢)*=0,
[(a-b)-(b-¢)]*=0,

Bl (a+c¢-2b)2=0,

#H a+c=2b.

(803 iEE: )

() a=b, NGB MARER ;

()% axb, WA (a-c)?-4(a-b)(b-c)=0,ATK

BB (a-b0)a>-(a-c)x+(b-¢c)=0ABMH

% HFLIR.

a-b-(a-¢c)+b-c=0,
XA RFAHREY 1.
FRbEAER, A
b-c¢
a-b
Bl b-c=a-b,
S a+c=2b.
B (1), (2) /T3, XA Gl AL
#i 10 E%ﬂa+b+c=a2+b2+c2=2,
KiE:a(1-a)?=b(1-5)%=c(1-c)* = abe.
[—RIEE]

a+b+c=2,

1x1,

b+c=2-a,
T b2+ 2 +2bc=4-4a+d’ D
a?+ b2+ ct=2,
B+ ct=2-a’

HIONGEE



2—a2+2bc=a2—4a+4,
Bl a*-2a+1=bc,

(a-1)%= be ,
o a(l-a)?= abe.
FE b(1-5)%= abe, c(1-¢) = abe.
M oall-a)=b6(1-6)=c(1-c)?= abe.
(QIHF IR )

a+b+c=a’+ b2+ =2,
ab + bc + ca =%[(a+b+c)2—(a2+b2+cz)]

= (2 -2)=1.
BABE(x-a)(x-8)(x-c)=0,1
x3—(a+b+c)x2+(ab+bc+ca)x—abc:O,
% -2x"+ x - abc =0,
Bl x(1-2x)%= abe.
a,b,c BEMHRHZH,
o a(l-aY=abe, b(1-b)l=abec, c(1-c)*=abe,
1] a(l—a)2=b(l-—b)2=c(1—c)2=abc.
Bl11 ERMELER a,b,c,d R+ =c2+d*=1,H
ac +bd =0,5KiE:a*+ *=b*+d*=1,H ab + ¢d = 0.
[T ]
A+ b=+ d%=1,
at=1-8%,¢%=1-d°.

M (ac)®=(1-6%)(1-d?)

Bl (ac)?=1-0b%=d*+ (bd)? )
ac+bd =0, W ac=-bd,
(ac)? = (bd)? @



TRHEO,OMH
1-6*-d*=0,
Bl b2+ d*=1.
HH l+d?=1,048
= b2,
ad+c?=a’+4=1.
(ab+ cd)? =(ab)? +2abed + (cd)?
= a’b® + 2abed + *d?
=a’c® +2(ac)(bd) + b*d?
= (ac + bd)?
=0,
sooab+ed=0.
{1 iE . —)
ad+b2=1, F+d’=1, ac+bd=0,
o ab+cd=ab(+d) +cd(a®+ ).
EERAHREIT FBEE c K=K, B
ab + cd = abc® + (a® + b%) dc + abd®
=(ac+ bd)(be + ad)

=0.
B ac+bd=0F ab+ cd=0,18
e _ b a ¢
d~ "¢’ d” b’
b_
Te T b

BF b2=c2.
FEB a+cl=a*+b2=1,
2+ d*=c*+d*=1.
[Bi%iE =)
8



a*+ b =1, *+d*=1, ac+bd=0,
(a®+b2-1)2+(2+d>-1)2+2(ac+ bd)* =0,
B (a®)+ (022 +1 +2a%b% —2a% - 207 + (*)7 + (d°)°
+1+2c2d2-2c2-2d% +2a’c* +2b7d? + 4abed = 0,
BH G
[(a2)2+(c2)2+(-1)2+2a2c2—2a2—2c2]+[(b2)2
() + (1) +267d* -2 - 2d*] +2[(ab)’
+2(ab)(cd)+(cd)2]=0,
Bl (a?+ 2=+ (b2+d>-1)2+2(ab+ cd)’ =0,
a,b,c,d #WREH,
2+ -1=b+d*-1=ab+cd =0,

M oat+cP=b+d*=1, ab+cd=0.

(G FiEk =)
ac + bd =0,
ac = - bd.

MLl c= bk, W d= - dk.
2+ d=(a’+ bH) K,
X at+ b=+ d=1,
sk =1
F £ Cret=adt+ PR =+ b =1,
b2+ d2=b+ Pk =a’+ b2 =1,
ab + cd = ab + bk( - ak)
=ab(1- k) =0.
&l 12 *iﬂf:as+b3+c3—3abc=(a+b+c)(a2+b2+
ct—ab—bec—ac).
(M)
B ED = (a+b)’-3ab(a+ b))+’ ~3abe



=(a+b)P+cP-3ab(a+b+c)
=[(a+b)+cl]l(a+b)Y~(a+b)e+c?]
-3ab(a+b+¢)
=(a+b+c)(a’+2ab+b*-ac - bec+ > ~3ab)
=(a+b+c)(a®>+b>+c>-ab-bc~ ac),
IR oT
(iR s ]
JFREN =[(a+b)+c][(a®~ab+b*) —(a+b)c+c?]
=(a+b)(®—ab+ b)) -(a+b)e+(a+b)c?
+c(a’-ab+ b)) - (a+b)c?+ ¢
=a’+ b+ -3abe,
e
[(FiE] KXF P+’ +c-3abe=(a+b+c)(a®+ "
+¢? - ab - be - ca) HERME, AIERNAKXER FE R, 24
a+b+c:OHT,7ﬁa3+b3+c3:3abc.
Bl13 EBLHI3b=a+2¢,5K o’ -27b° +8¢° + 18abe HIMH.
[— AR A )
3b=a+2c,
a® -275% +8c% + 18abe
=a’-(36)* +8c° +6a(3b)c
a3—(a+20)3+863+6ac(a+20)
a® - (a® +6a%c +12ac® +8¢%) + 8¢ + 6a’c + 12ac”
=0.
(B Fr s vk )
BB 1250,% v+ y+z=08],
x+y + 2 =3wyz.
‘“3b=a+2c¢c, ..a-3b+2c¢=0.
10
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FE 0’ -270°+80 + 18abe A

={a’+(-35)"+(2¢)*] + 18abe
3a-(=3b)-(2¢) + 18abe
- 18 abe + 18 abe

=0.

&l 14 i x+y+z:3,(x-—1)3+(y—1)3+(z—1)3=
0,RiE:x,y,z FELEH - -I%ET 1.

[—iE:)

Blx-1P+(y-1 P+ (-1’ =0 M AmBH BH,H

Py + 2 -3y 1) +3(x+y+2) -3=0,

1

B P+ + 2 -3(a+y+2)-2(ay+ yz+22)] +6
=0,

Py + 2+ 6(xy+yr+az)-21=0 @D
2+ y+ 2 =3y
=(x+y+z)[(x+.y+z)2—3(xy+yz+zx)],
4y + 2 =3xyz+27-9(xy + yz + xz) @

HORAOH, /%

3xyz —3(xy + yz + xz) +6=0,

Bl wyz - (oy+yz+2z)+ (x+y+2)-1=0,
(x-D(y-1)(z-1) =0,

FE x,y, 2 FELHF -ITEF 1.

[ 637 3 7 ]
x+y+2z=3,

(x-1)+(y-1)+(z-1)=0.

Y4 a+b+e=00, a®+ b+ ¢ =3abe,
(x-1P+(y -1+ (z-1)°
=3(x-1D)(y-1)(z-1)=0,

11



W ox,y,z2PELFE-I%ETF 1.
Bl 15 SRIE:512° +675° + 720° R &¥.
(—MiEs: ] (#)
[ IFTIES: ]
i x =512, y =675, z=720,
XX = AT R O R, VT A 227 = 3y
22°=3xyz, 2°=3xyz- 2.
M TR x3+y3+23=x3+y3‘23+3xyz
=x0 4y 4 (=~ 2) - 3ay( - 2)
’=(x+y—-z)(x2+yz+zz—xy+xz
+yz),
N x+y-z=467,
512° + 675% + 720° T %% 467 ¥R,
HERAR. | ,
gl16 SMER 2 (y-2)+y(z-2)+ 2 (x~y).
[—ffg]
B =2y -2z +y2z2 - yPx+ 2 (x-y)
=(2ty - my?) - (P2 - y?2) + F(x - y)
=xy(x~y) - z2(x =y + 22 (x - y)
=xy(a~y)-z{x+y)(x~y)+(x-y)
=(x-play~(x+y)z+ 7]
=(x-y)(a-2)(y~-2).
[GiFrimes—]
WEAEBE « I _KR=ZMAE0#.
B = (y-2)a? - (- D) x+ys(y - 2)
=(y-z2)[a®-(y+2)x + yz] 7
=(y-z)(x-y)(x-2).

12



